
���������
�� ���
������
 ����������	� ��� ������������

�������� ����	
���
� ����
��
��	�� �����
��
� ����
�

�����
��
���
�� ��


���� ���� � 
 �
 �
��

��


��� ��� �����	
�� ��
������ �� ����� ���	� � ���
�

�������� ��� 
�
� ���� � � �� ��
������ ���

ŷ = a · ln x + b, (1)
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ŷ = b � �� �� � � � � �� �� x = 1. (3)

���
� � � �� � ��� � b ������ ������ � � �� � �������� ��

������������ ���� 	
� y �� x = 1�

%����� ���� ���� �� ���� 	
� a �� � �� ����� ���� �
������ �

����������	 
� )��� �� p > −100 � ������
�� ��� 
�

������ ���� 
� �	���� *�� �� ���������� �� ���� 	
� x
� ��� ������� p%� �������� �� � ��� ������ � � � �
����

� ��� ���� ������������� ���� 	
� y ������
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. (4)
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ŷ1 = a · ln x1 + b. (5)
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100
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)
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(
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)
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(
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1

100

)

≈ 0.0047264 ����$�� �� ≈ 4.73 ��.
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� ������� '� � ����� ��� �&'( ���� ��� � a = 0.475 �

p = −10�� � ��	��� � ��

Δŷ = 0.475 · ln
(

1 − 10
100

)

= 0.475 · ln 0.9 ≈ −0.05005.
(10)
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�� � � �� ��
������ ���� ��� � x = 7 &�� �� ��� �

������ ��� �������� � � F(�� � �� ��	��� � ��

ŷ = 0.475 · ln 7 + 0.1028

≈ 1.027107 ����$�� ����

≈ 1027.11 ��.

(11)
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1.05 = 0.475 · ln x + 0.1028. (12)

+ �� �
� 
� 
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�����

x = e
4736
2375

≈ 7.34563 ����$�� ����

= 7345.63 ��.

(13)

�� ) � �� ���� $��� � ���������������� ���	� y ≥ 1 � �

��� ���� ����x�%� � � � ����� �

0.475 · ln x + 0.1028 ≥ 1,

0.475 · ln x ≥ 1 − 0.1028,

0.475 · ln x ≥ 0.8972 / : 0.475,

ln x ≥ 0.8972
0.475

=
8972
4750

=
4486
2375

,

x ≥ e
4486
2375 ≈ 6.61171. (14)
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